Test 1 — Version E Name: k < (’§'

Dusty Wilson
Math 151 God may not play dice with the universe, but something
strange is going on with the prime numbers.
No work = no credit Paul Erdas (1913 - 1596)
Hungarizrn mathematician
No Symbolic Calculators
Warm-ups (1 pt each): 4= -l gl =y (»..4)2 =

1.} {1 pt) According to Erdds (see above), where is something unusual taking place?

Frirme Mombers arw m?mn‘aqsy

2.)1f f(1)=2 and the average rate of change of ffrom x=1 to x =5 is 3, what is f(5)?
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3.) Consider the graph of f.

a.) Between which consecutive labeled points is f’ negative?
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b.} Between which consecutive labeled points does the sign of f” change from negative to positive?
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4.} (10 pts) Evaluate lim A R LT < é ?{C
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5.) {7 pts) Use the graph of g to answer the questions beiow.

a) (1pt)Find g(4) = <o

b.) Find lim g{x) = !
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c.) Find lim g{x)
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d) Find g'(0) 2 - 3
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e.) (2 pts)ls g continuous at x=17? Mo g;pc@ Hw\'
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6.} (10 pts) Use the definition to find the derivative of f'(x)=5x" +3x—7
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7.} {5 pts) Use the precise definition of the limit to prove 1in’31(5x+2) =17
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8.) Consider the graph of f.
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9.} (10 pts) Evaluate lim M
x=ee 5x7 +3x-7
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10.) State the Squeeze Theorem or the Intermediate Value Theorem {your choice)
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11.) {5 pts) Evaluate lirré (l + X" cos (lD
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12.) {10 pts) Suppose the position of an object moving horizontally after t seconds is given by the

function ﬁ(r) =3¢ +4 where the position is given in meters to the right of the origin.

a.) Find andinterpret £(2) = lo
altcer 1 s , dhe. obiect
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b.) Use the definition of the derivative to find f‘?ﬁ)
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c) Interpret §'(2)
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